[ BH-3T6A %]

.218 DIA, HOLE REVISIONS RELEASED M
4 M1G. HOLES MAX. REV] DESCRIPT IO [DATE | iPPROVED
u......uc§x g mn.>>\“”u§> W | 25030 {UPDATE NOTE 3{PG.2) DELETE °CADMILM- PROCESS | 93/11/8 ¥.5.
3,305 — Y | 26023 |ADDED ITEMS 12 & 13 obsrk | i
rm ; DATE CODE STAMPING AREA 1126025 LOOED 1TBI5 128 15 _ st L7
N A (LOCATION CPT{ONAL)
P
P \ K
NP BLUL Al J&M\J
L ay i
- ﬂ% CONSTRUCTION HERMET |C SEALED,REPAIRABLE 13
glgl2sl s it 211 CONTACT CONFGURATION AINS 3P S T N.O
B=8 " ey = ZLn
n e 23 = + St AUX. 1 N.O. , 1 N.C. ¥1
TT7 © A s CONTACT RATING
mw@ 7 ﬁ ! VOLTAGE 115 VAC 400 HZ 28 ¥DC  BOTH
PR ) LA /l CURRENT AT 125° C HAINS MAINS AUX. o
7 / 4 EVACUAT 10N TUBE RESISTIVE 50 AP 50 AMP 5P O—
b_ (SEE NOTE 10) MOTOR 50 AP “
_ I 50 AP 5 AWP _
o ] . INDUCT IVE 50 AP e sap MO v | ¥ O A2
EVACUATION TUBE {SFALED) .297 MIN, R. LAWP 95 AMP 25 AMP 1 AP 1
1
ooo Bt O—v m v—0O B

10-32 UNF-2A STUD
6 STUDS

6-32 UNC-2A

R S

£ 2
.- LJ
% [ 11
o 2 2 mm
B S 2%
o~ © A
-5 —=S—|—r
~ o -4
e | . | _ L 131 1 39529-024  |OVERLAY
= . _ = 12 1 1 5B400-128 PLATE - FAA/PMA
e 1101 39529-007 IOVERLAY
01 3 39529-001 OVERLAY
e COIL DATA g ' 6 51810-054 WASHER LOCK NO. 10 SPLIT AN 935 BI0_ |BRONZE
RATING CONT INUCUS DUTY 818 51806014 WASHER LOCK NO, 6 SPLIT AN 935 B6 _ |BRONZE
7 112 51702-844 WASHER FLAT 3/8 ¥ 13/64 X .032 BRASS
NOMINAL VOLTAGE 28 vdC 5 | 12 51702204 WASHER ELAT 3/8 X 9/64 X .032 BRASS
i £ 16 50406-064 NUT 6-32 X 5716 X 7/6% HEX BRASS
DROPOUT VOLTAGE 1.5 - 7 VDC 3|1 42594-00+ PLATE-NAME
Ocmmmz.ﬂ >.._. Mw <muo O.U >gww ms)x. 2 1 42405-001 PLATE-WIRING D] AGRAM
1 1 42300-010 CONTACTOR ASSEMBLY-FRI .
OPERATE TIME AT 25°C & 28 VDC FIND | QTY PART OR NOMENCLATURE 03t FSM DRANING OR MATERIAL
CLOSE TIME 0.025 SECONDS MAX. | ™ [FE®| IDENTIFYING W0 DESRIPTION W | SPECIFIGATION R NOTE
RELEASE TIME 0.010 SECONDS MAX. REF. HARTMAN ELECTRICAL MANUFACTURING
MANSFIELD, CHIO
BOUNCE MAIN 2 MS MAX. . mommnﬂ
10-61445~
BOUNCE AUX. 4 MS MAX, R RS S RELAY-50AMP, 1 15VAC
T 3
AMBIENT TEMPERATURE -585°C 70 +125°C ENGR PINAE: 400 HZ, OR 28VDC
URESS OTHERISE SPECIFIED MF G e 093
LIFE ELECTRICAL 100,000 CYCLES DSOS 4T K 0S| e
LIFE MECHANICAL 200,000 CYCLES CONTR NO. C 174063 BH~316A
WE 1 GHT 1.90 LBS. MAYX. 2 PL DEC.3 PL DECJANGLES! GOVT APPVL
« .06 ] 010 1" SCALE NONE | ISHEET 1 _OF 2




~ BH-J316A
[ REVISIONS RELEASED |
[ReV. BESCRIPTION DATE | APPROVED

_ “ SEE SHEET 1 FOR REVISION DETAILS

RELAY, 50 AMP, 3PST NO, Mo—+v w012

SPDT AUX, TYPE 1, REPAIRABLE 130—EATEL 014
BOEING P/N 10-61445-21 X1
CONTACTS 28VDC OR 115VAC, 400HZ X2
5 AMP AUX, COIL 28VDC AO—y | v—0OA
- ;Jmm_% BH-310A B1IO—y | v——OB2
HARTMAN ELECTRICAL MG 10—y | v—0C2
WANSFIELD OHIO FSCM 74063 =
49584-001 42405-001
NAME PLATE WIRING D1!AGRAM
NOTES:
1 DIELECTRIC 10, RELAYS WiTH AN “A~ SUFFIX AFTER THE SERAL
: NUMBER HAVE AN >oo_4_ozmr>mm»%c>q_oz TUBE
LOCATED AS SHOWN. THIS EV 1ON TUBE MUST
MAIN CONTACTS TO ALL MUTUALLY INSULATED POINTS 1500 V RMS NOT EXTEND PAST THE RELAY HOUNTING PLATE
AUX. CONTACTS TO ALL MUTUALLY INSULATED POINTS 1250 V RMS OR HAVE SHARP EDGES.
COIL TO ALL MUTUALLY INSULATED POINTS 1000 V RMS
MAX IMUM LEAKAGE CURRENT FOR ALL DIELECTRIC TEST POINTS IS 1 MA.
2. MTG. HOLES ARF SPOT FACED TOP & BOTTOM
3. ITEMS 4 THRU 9 ARE SILVER PLATED
4. RELAY FINISH IS FLAT BLACK
5. ENCLOSURE 1S ALUMINUM {TOP, BOTTOM, AND SIDES)
6. 10-32 TERMINALS ARE STAINLESS STEEL WITH COPPER CORE
7. MANUFACTURING DATE CODE TO BE YEAR, WEEK (YY,XX)
8. REV. *"M* ENCOMPASSES USE OF CERAMIC AS SURBSTITUTE FOR GLASS
SEAL ON 6,32 AUXILIARY AND COIL TERMINALS,.EFFECTIVITY DATE
9224 AND ON,SERIAL No. CK86551 AND HIGHER. VLS OB SELFID GREF HARTMAN ELECTRICAL MANUFACTURING
TOLERARCES (K 10-81445-21 MANSFIELD, OHIO
9. 6-32 TERMINALS ARE SILVER PLATED BERYLCO ALLOY 10HT OR 14HT. {2.PL pEc.i3 FL DEC.ANGLES
£-02 [r.005 | » 1+ | DR BYI RS 4875 RELAY-50AMP, 115 VAC
AT M CER 400 HZ, OR 28VDC
ME G T 093
RELEASE S1ZE CODE iDENT jDWG NO,
CONTR NC. —
e C {74063 BH-316A

SCALE NONE | ISHEET 2 OF 2




